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n* i Na 46g m Namol 7
ii. Na sd@igg odom 7 (Na = 23)
(03] i 0,64g50, mol?
ii. 0, oot ?
ili. O odég ons ? (0 = 16)
(or i CO, 66g @ CO, mol ?
ii. GO, qég o ?
iti. C mol @#nm?
iv.. 0 mol &= ?
{C=12,0=1)
(o7 S, ogmb 512g O@ 98
i. 5, mol @ ? -
. 5, qig ofo ?
iii. S oo8My o ? (S =32,
9" C.H,,0, 0.2mol 6¢ dosldn 7
a * (C=12, H=1)
{10 C,H,N,0, 0.25mo! B@ Smeits ?
(C=12, H=1,0=16,N = 14)
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i Ca 60g = Ca mal ?
ii. Caeoo®dg o 7(Ca=40)

i N, 70g @ N, mol ?
ii, N, qég @fon ?
iii. N oo®g oe ? (N =14)

i.  CH, 64g = CH, mol ?

ii. CH, aig o 7

fii. H mol @doe ?

iv.. H coé¥g o 7
({C=12,H=1)

CH, 0.25mol bg duedda ?
(C=12 H=1)

C,;H,;0,, 0.75mol @ ol ?

LFA 4

(C =12, H=1,0=16)

NaCl 0.25mol Bg el ?
(Na = 23, Cl = 35.5) -



